INTEGRATIONSTEORI (5p)
(INTEGRATION THEORY)
(GU[M AF440] ,CTH[T MV 100])

ASSIGNMENT 2
(Must be handed in before Friday at 9 am, week 49)
Note that 1 dp=0.1p.

1. (1.5dp) Let (X, M, p) be a finite positive measure space. Prove that
(Ui Ai) > B u(Ai) — Dicicj<np(Ai N Aj)

for all Ay, ..., A, € M and integers n > 2.

2. (1.5dp) Suppose

’I’LE2
fa@)=n|z|e 2, z€ R, neN,.

Show that there is no g € £'(m) such that f, < g for all m € N,.

3. (0.5dp+1.5p) a) Let (X, M, i) be a complete positive measure space and
suppose A,B € M, where B\ A is a p-null set. Prove that £ € M if
ACECB.b)Suppose EC R and E ¢ R~. Show there is an € > 0 such
that

m(B\A)>¢

for all A, B € R~ such that A C F C B.



